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THE EIGHT WAVE LINE: (a/8)
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Fig: 3.1.1 The eight wave line

Fig 3.1.1 shows the circuit diagram of a transmission line with finite length /s
the input voltage is Es and current Is.

The input impedance of the circuit is Zin The receiving end voltage and current
Is Er and IR.

The distance between sending and receiving end S = a/8

We know, the input impedance of the lossless line is given by,
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Thus the eighth wave line is generally used to transformer any resistance Zr an
Impedance zin having its magnitude equal to characteristic resistance Ro of the

line.



